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(English Version)

Answer any six from the following questions:— [5x6]
a) Explain briefly the teleological proof for the existence of God.

b) What is the problem of evil?

¢) Discuss the general characteristics of a family.

d) What is association?

e) What is a ‘social group’ and what are its main characteristics?

f) What are the differences between the concepts of ‘Class’ and ‘Caste’?

g) Explain briefly the “Nature of Man” following Swami Vivekananda.

h) Explain briefly the ontological argument for the existence of God.

i) Explain briefly the sociological theory of Durkheim as anti-theistic theory.
i)  What do you mean by class consciousness?

Answer any three questions from the following:- [15x3]
a) Critically explain the Freudian theory against the Existence of God. [15]
b) Explain what Sri Aurovindo understands by ‘Integral Education’. [15]
¢) ‘Society is the web of social relationship’ — explain this following Maciver & Page. [15]
d) Explain and examine the Marxian theory of class. [15]
e) What is Family? Explain the different types of Family. [5+10]

f) Is the existence of evil compatible with the existence of Benevolent God? Discuss. [5+10]




